VICOR CONFIDENTIAL

THIS DOCUMENT AND THE DATA DISCLOSED
HEREN OR HEREWITH IS NOT To BE REPRODUCED,
USED, OR DISCLOSED IN WHOLE OR IN PA

5 ANYONE WITHOUT PERSSIN OF VICOR CORP,

CONFIGURATION 'B’

COLDPLATE VERSION SHOWN
SINGLE OUTPUT
WITH PLUGMATES

INCHES
MM

.81
zr = ciclololoi F

.20 4560
5.1 115.82

| | 1y o ool
Lc o

63
—0 ©
)
e o e o
@ VIPAC
68.07
.
6.80 o /////Ki
172.7 f} O oo0oo0 O ° (j
6.000 Zl
_ o o o o o o o o
7.49 152.40
190.2 . B .
o VIPAC 0||o] VIPAC 0|
@@
© © © O O o 0o o
600000000
s00000000

N
N
[}
S
[0
~

35
HIB 9
606006000060
800000000
@| ]

u
~
®

CUSTOMER MUST WIRE OUTPUTS OF
CONVERTERS IN PARALLEL AS SHOWN
REFER TO DATA SHEET FOR DETALS.

XX_02 XXX
MM 5 MM

.0
TOLERANCES e

MOUNT (7) PL USING
#8 FLAT HEAD SCREW

(M4 FLAT HEAD SCREW)

TORQUE TO 12 IN. lbs

CONFIGURATION 'B’

COLDPLATE VERSION SHOWN
DUAL OUTPUT
WITH PLUGMATES

INCHES
MM

.81
e (0000 T F

26
20 4560
51 115.82

63

16 \5__?) O

{ | 1o o nnal
Lc °

2680
68.07

6.80 °
172.7 ° O ooo0 O °

VIPAG

o o o o
152.40
7.49 - i =
190.2 fo] VIPAC ol|o| VIPAC 0|
& Cla
O © 0 © O O o 0 o §
S
000000000 0sco0sca0o
900000000 O 0060000000
- D @
2260 ‘ E¥ 57
5791 9. 145
|7 ase | 268
! 391 724
TOLERANCES XX 02 XXX _.010.
MM TS MM T2

=] s [ o [

‘ SEE SHEET 1

MOUNT (7) PL USING

#8 FLAT HEAD SCREW
(M4 FLAT HEAD SCREW)
TORQUE TO 12 IN. lbs.

Aﬂ# VICOR

UNLESS OTHERWISE SPECFED

!é’:?ﬁéﬂ?%é‘(’?ﬁm g OUTLINE DWG VIPAC
CONFIC "B'" AC

THRD ANGLE PROJECTION _[SIZE [FSCH NG, o REV
33016 7

— D | 87131
i [seer 2 oF 2

DO NOT SCALE DRAWNG _ |SCALE 11




VICOR CONFIDENTIAL

THIS DOCUMENT AND THE DATA DISCLOSED
HEREIN OR HEREWITH IS NOT TO BE REPRODUCED),
USED, OR DISCLOSED IN WHOLE OR IN PART

TO ANYONE WITHOUT PERMISSION OF VICOR CORP.

CONFIGURATION 'B’

COLDPLATE VERSION SHOWN
SINGLE OUTPUT
WITH LUGMATES

MOUNT (7) PL USING
#8 FLAT HEAD SCREW

(M4 FLAT HEAD SCREW)

TORQUE TO 12 IN. Ibs.

#10-32 STUD

FITS 1 LUGS MIN
(VICOR P/N 23520)
TORQUE YO 16 IN. Ibs.
4 PLACES

.28

INCHES
| MM
77 I I}
196 23;3 @@@@@@%}AE I%
496
126
20 4560
5 115.82
{ Qo npanal
63 ° °
0 ©
e o o ©°
@ VIPAC
68.07
6.80 o
1727 ° @
6.000
152.40 o o o o
741
1883 . L <] .
o VIPAC ollo VIPAC o
22
® cl c s
O) o © o (O O) e o o (O [
o é 1) o é 2
A ©
I i — H
INSULATED 2.280 135 66
BUS BAR (2 PLJ 57.91 343 16.9
135 | 2.94
343 748
. XX _02 XXX _.010
TOLERANCES D

A—L.i_‘\‘;
Wl

T
jL

=]

‘ 1 ‘RELEASE PER ECD REQUEST E080940 R’EJH‘ 05/06/08 ‘ AK

CONFIGURATION 'B’

COLDPLATE VERSION SHOWN
DUAL OUTPUT
WITH LUGMATES

INCHES
MM
-
77 il ]
19.6 H@@@@@@%}Q— I%

=

TT=TT

496
126
20 4560
5.1 115.82
| Toonoaal
63 Lo °
®) ©
@ © o ©
2.680 VIPAC MOUNT (7) PL USING
68.07 . 18 FLAT HEAD SCREW
(M4 FLAT HEAD SCREW)
6.80 ° TORQUE TO 12 IN. Ibs.
1727 5 O co0oo0 O ° @
6.000 o o o o A o o o o 10-32 STUD
7a7 | 1240 FITS 2 LUGS MIN
82,2 . — * (VICOR P/N 23520)
VIPAG VIPAC TORQUE YO 16IN. Ibs,
© ©|° © 4 PLACES
S ele @ 22
O} o o () o e o |0 55 04
e (a) ) oy 6 1
Q QAL 1O |
66
16.9

TOLERANCES! XX _.02 XXX _ .010

UN_ESS DTFERWISE SPECFED
DINENSIONS. ARE 1N INCHES-
TOLERANCES ARE:
FRACTIONS DECMALS ANGLES
Yes xxo egr e
Soox—s 005

THRD ANGLE PROJECTION

D0 NOT SCALE DRAWNG

Aﬂ# VICOR

OUTLINE DWG VIPAC
CONFIG "B" AC

SIZE

67131 33016 |1

SCALE

] [srEET 1 _oF 2




